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1. Build on your previous paragraph from Homework 2 that both refines your plan and summarizes what your intervention will result in. Make sure it starts like this:

I observe that____________. I think it’s because ______________. So I plan to ______________. Which I think will result in ______________.









2. Use the grid below to depict your logic model. 

	I observe…
	I think it is because…
	So I plan to…
	Which I think will result in…

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	





3. In order to implement your intervention/strategy, what steps will you need to take to prepare for implementation and support implementation as it rolls out?

Complete the table you began in class





4. What will you need to monitor to know that the intervention/strategy is being executed with fidelity?

Complete the table you began in class
